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Register
Number

sps Pailude / SOCIAL SCIENCE
( Tamil & English Versions )

Griyid : 2 5 e ] [ Gures wduGuass : 100

TimeAllowedzzéHours] : : + [ Maximum Marks : 100

u@d) - 8| / PART - A
(wuGueaet : 30 x 1 =30) / (Marks : 30 x 1 =30)

efloy /Note: § ugd ‘S aSk‘u @ULg aleTéae 2_efene.
: Part - A consists of 30 questions.

) S@ass AamsaErseh oL SHS.
All the questions should be answered.

i) @aQaurp alamalped @ LHLCLE.
Each question carries one mark.

sfurer efoLomus CoibOBEssMD :

Choose the correct answer :

1.

uburews Smwentt uflersl Qubp FSaTLTD sTTeey WeTHS @sﬂmgﬂuﬂe&r.grr@

a) Upreev  b) swQuuiles d @udlerpg d) Gurtéssad.
' King Charles II got Bombay as dowry after his marriage with the Princess of -
a) France . b) Spain . ¢ England d) Portugal.
®ss oot Curflé par o0 CarpaysaiL GLb | |

a sGeTeyt b) Qsfsb - ¢) wran d) uretorg&Bel.
In the first Mysore war Hyder Ali was defeated at

a) Thanjavur b) Chengam c) Mahe d) Pondicherry.
@urest Qe sflumh Yy Alle FAULL G |

a astra's’rgfr : ] b) wsdu QpSur

¢ eu&lerm. | d) Gléved..

Rani Lakshmi Bai led the revolt at

a) Cawnpore b) Central India c¢) Lucknow d) Delhi.
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4.

uCqué I-g ulgwed I 2 L& Qurpsss :

A)
B)
©

utigwe I
Qe @ el & blumis
alévedlwid Quiesorg b
Guei svefGloes

D) reQanersdl Sy
Match List I with List IT :

A)
B)
G
D)

List I
Rani Lakshmi Bai
William Bentinck
Major Sleeman
Lord Dalhousie

siflurer el ows Coiey QFis :
Choose the correct answer :

a)
b)
c)
d)

ucguéd I-gg ulguéd I 2 L& QuUTBSHES :

A)
B)
- C)

A.

4
2
1

3 .

B C D
2
1
3

= N >
b W =

uLguwe I

Qpeneo. sLLD

Sevong L LweosTid

Qglafibs

D)
Match List I with List II :

A)
B)
C)
‘D)

MW G-

List I
Rowlatt Act
Dandi March
Jai Hind
Simon Commission

sflurer ol owg Cotey Ces :

Choose the correct answer :

a) 5
b)
c)
d)

A

o N Wb

B C D
3 2 1
4 1 2
1 3 4
1 2 3.

2.

2

Bate O3 (G

S 02 oD

. a8 I

s G0, Mg bt

uCgwev II -
58 gfiy
SUTE (P
gresrélllesr ez
SE&HTHET.

List I

Abolition of Sati
Postal system
Queen of Jhansi
Thugs.

u&q;mé_o 1

- arhSlgl

Cpered
1927
1919.

List I
Gandhiji
Netaji
1927
1919.
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6. ulguée I-g ulguée I 2.1 & QUIGSSS :

ugué I uCigwé IX
A Hrwd algue &l g 1. 1985
B) e&nmié 2. 1996
C) wguGurm 3. g.nr. soulldr wee
. Quede seeeurt
D) egyre Cariur@® 4. yGsrevaralwr.
Match List I with List II :
List I List II
Al  Mrs. Vijayalakshmi Pandit 1. 1985
B) SAARC 2. 1996
C) Tito 3. First Woman President of the
U.N. General Assembly.
D) Gujral doctrine 4. Yugoslavia.

sflurer efleon_eows Caiay Clsls
Choose the correct answer :

A B C D
a) 2 4 1 3
b) 4 2 - 3 1
c) 3 1 4 2
d -1 3 2 4.

7. sflurer sapeons Coitey Qs : ( Epsacaapdled gy v GGw sflwrer sadp) )
a) 19-b gropremgs Ghdufler G 2 L el oL goib aupssd @eeroell®bas
b) afléedlud OQuabngs Uyyeflér o pefllert st  semraufler fHeopiiéd
2 LatsleoLCup) ers sULTWILESSLILCLTT ‘
¢ eLeasloL b Lpsesdibe adlyrer slLb 1829-6 GubplurL g
d) @grer groCurasyrl sy elLsos T HBTI.
Pick out the .correct statement ( only one statement is correct ) :
a) During 19th Century Sati, the evil practice was not found among Indians
b) Lord William's relative was forced to die with the funeral pyre of her
husband
¢ Law against Sati was passed in the year 1829 -
d Raja Rammohan Roy was against the abolition of Sati law.
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8. sflurer sapeps Coitey Qals : ( SpsacuLaupile gy wGCL sflurer saby )
a) 18786 QuppuulL ewLry Qumflaer slLb usdfléossarse &ahdlyd
Siellésgl
b) 1905 eutisl: INelleear 688 Qussn Caream auflouesss
c 1878 UpudsstulL usé sLib @bSurearse usd addlGss
Si@iFlusiisss) _
d &Cs8 Qussd QeusfipT QU QUTGL &HeneT euyGaupDSI.
Pick out the correct statement ( only one statement is correct ) :
a) Lytton's Vernacular Act of 1878 led freedom to press and newspapers
b) Partition of Bengal, 1905 leads Swadesi movement
c¢) Indian Arms Act of 1978 permitted Indians to keep arms
d) Swadesi movement welcomed foreign goods.
9. eflurer smperps Cairey Qelie : ( Spsszorcubile gery L GCL sflurear saby )
a) dfluev b erpdleows Qurpss Wy Haurards Qeradmy®mhs cutiddler
NesrCGs i L srGsreren _
b)) @hdu Csélu Grremusdler mrerdl @yrent Grib Qubdlmbart
c) Qe sLLb Bgaurdlesmer allfsoma Qelu auams Celizs
d Ogemye Lwi om sy, _
Pick out the correct statement { only one statement is correct ) :
a) Cripps plan is a post-dated cheque of a failing bank according to Gandhiji
b) Jhansi Rani made her place in Indian National Army |
c)J Rowlatt Act permits the moderates to set free
_ d) General Dyer was a Viceroy.
10. eflurer smpeops Coirey Celis : ( Spsacmapie g wiGCw eflurer spp! )
a efCeaurgur Quésd Grrorgdurd S ybllssiulL gl
b) 1950-b y&o® eserppHBprit slLib QaTI( auFliulLgl
d yllgrer Quésd 1951-b @ ésriur aflGarmururGeaiwme
< yollSs0ULL g
d Gersrfl sealé@uw 1960-6 HublésiulL g
Pick out the correct statement ( only one statement is correct ) :
a) Sarvodaya movement was started by Rajaji
'b) Disabilities Act was passed in 1950
c¢) Acharya Vinoba Bhave started Bhoodan movement in 1951
d) Kothari Education Commission was appointed in 1960.
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GamglL @GLisoen sflurer alloL Carea® Blyuys :
Fill in the blanks with the suitable answers :

11.

12.

13.

14.

15.

QuETsEEHE sweaHlub CUD aEE QEWYD ELLD «ooorrreeaiaeene 24 G0,
Equal remuneration to women is ensu_red by thelin tont ot ok y

@pdurales sHCUT@SW GIOETH GQUIES ST oovoeneerencenes o
Vice-President of India 1S ....cccccceeeevunnnee

P T T R ap QLide sigmller Hleoaud o diarg.

The Atomic Power Station in Tamil Nadu is at .....coceeeeeevnnnen. :

2y eppiilet UsalESTOD CUTSIOITS ..oorerieireiiins 2| @ (& eTT Gid.
The tenure of the Governor is normally ............ ot years.

Catash ymeamureniseiear &g .......: e T BHLS HEHEES FDTTF.
The status of Election Commissioners is equivalent {0 .........cccccveeenes judges.

sflurer elleoows Coiray Qels :
Choose the correct answer :

16.

17.

18.

wTHle SenésTamald Gl sensveaurt

a) @bt b} pseennssit

d slLuCuyereusd seneveurt , d) 2 6TgiemD MDEST.
The State Council of Ministers is headed by the

a) Governor b) Chief Minister

c) Speaker d) Home Minister.
@bdus Carss yeamammud G :

a) espdyorer oLl b) sl liyfer 2emoly
) seluri Sl _ d} Oung Blpeusio.
The Election Commission of India is a/an

a) independent body b) statutory body

c) private body | d) public corporation.
2Cflss pédflu priige 2 der @guyflow awams

a @ulers eyyflewn b} ghens Gyuflon
) wrileé Gyuyflew d) Geubmst ergiapficrene.
In U.S.A. there is

a) dual citizenship | b} one citizenship

c) state citizenship ~ d) none of these.
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19.

20.

21.

22.

6
st o1 rsd oflaid 2 erer siQleueh
a Uybwysdyr swleuef b) shewss swbeuef
¢) Garsreufls swbleuef d) sraliflé swbeusf.
Highly densely populated area is
a) Brahmaputra plains b) Gangetic plains '
¢} Godavari plains d) Kaveri plains.
Guunse Syanysdlar Cupeluedllle sremiu@b srHselr
a wmélload ar@ssr b) @eeydli sr@essr
c) L& : d) usew LIPTE STESET.
The forests in the western parts of the foothills of the Himalayas are
a) coniferous forests b) deciduous forests
c¢) Taiga ; d) evergreen forests.
&y 2 pusié Gihduraler el ib audléE wrblen
a sdppr@ b) =gt GyCssid
c 2580 dyCssbd d) waryTeygFD.
The state which tops in the production of sﬁgarcane is
al Tamil Nadu b) Andhra Pradesh
c) Uttar Pradesh d) Maharashtra.
uCgwe - utgud II o Ler QuUrEsgs :
U gwe I i ucqueé II
A sl 1.  Cuhe amsrerd
B) Opa 2. &FpTL&D
C) puurf 3.  <ypdly IyGsen
D) ysvsleoe 4. Gayenr.
Match List I with List II : ' '
List I List II
A) Coffee 1. West Bengal
B) Paddy 2. Karnataka
C} Rubber 3. Andhra Pradesh
D) Tobacco 4. Kerala.

A B C D
a) 1 & 3 2
b} 2 1 4 3
c) 4 3 2 1
d) 3 2 1 4.

siflurer afle_cowsd Coitey Cleds :
Choose the correct answer :



23.

24.

A B c

&) 1 3 2
b) 1 7: NP
c) 4 2 1
- d) 2 1 4

ulgwén I-gp ulgué II o Lt QUTGBSES :

uCgwe I

A)  sPPls wesabsTOS

B) Ulswrer wsssbsTans

C) ©onhs L&EO\BTEmS

D) <fls uredar alldlad
Match List I with List II :

List I

A) Highest population

B) Moderate population

C) Low population

D) Highest sex ratio

sflurenr efleoLeowg Cziey Clews :

Choose the correct answer :

ulgwé I-g ulgué I 2 et QUT®BSSIS *

ulgué I
A)  ugly eribg

B) e&aps yaiafll eleughisei
C) elermiuiquied
D) uleLuuLb

Match List I with List I :

List I
A) Spatial
B) Social data
C) Schedule

D) Bar diagram

wwwsy

eflurerr elleoLeows Csiiey Cleis :

Choose the correct answer :

A B C
a) 1 4 3
b) 4 3 2
c) 2. 3 4
d) 3 2 1.

LAY

o

2

A

uCigwe IO
sOPETE
2 $8lrt y@seid
Cagenm
SieenmiD. 7

List II
Tamil Nadu
Uttar Pradesh
Kerala
Assam.

utgué II
aflersat_kiser apeud
sreorSigsc
@Qhslurellst @upens el
BeTSQSELY
Criréaremey.

List II

Graphical representation
India’s physiography
Census/Samples
Interview.
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25. eflurer sapeops Coirey Qs : ( Egg)éaaaGﬁle_Gl.ltbgﬂéJ gsn Ll ECwL sflurer sapp )

a) @gﬁmmﬁlaﬂ e Garhphse @Gy sraslL 586 L@SI.II'I'GOTGU)QJ

b) Susbu QhHurale preéTE LSBT e 2 ararer

o s&ereo JLyd Cupe Crréadu sfaews

d) emTHUTT LS WSULPELWLITET WYL NS 6T

Pick out the correct statement ( only one statement is correct ) :

a) The land features of India were all formed in Identical period

b} Four mountain hili ranges are in Peninsular India

c) Deccan plateau slopes towards the west

d) The Satpura mountains are very ancient fold mountains,

26. sflurer eapeops Caite Geis : (Spsacoanile g v @G sfurar sabp )
a @urgavsraile usbsTauhseT &HTaOLLGS dTDeT
b) 2500 Lw;rﬁgf,]ﬁ)@@wé: Qeutiud Blas@apey
c) udif spHdl eop waTaxilear 2 jsgaETmvOL G)Psss CeLdps |
d Qubesesd sTarhss Lelgame o BeuTsaiL@H@ipe.
Pick out the correct statement ( only one statement is correct ) :
a) Evergreen vegetation is found in Rajasthan
b) At heights greater than 2500 metres the temperature is very low
c) Crop rotation leads to losing of soil fertility
d) Natural vegetation is cultivated by human belngs.

27. esflurer empeops Coiey Qels : ( Epsacoi_eubde gem w GG sflurer sapp) )

a @bduraile Qgrhibermesenses Csoaurar walQuTEBLsaildr Uy
Fyre sreuLu@SDs .

b) gflLsdler Qsrfle waCappsdhe sésTuQUIGLsala 2 pusg
wsPusgaib Qupaldame

c uwly flessf sflpprige QpuCaditie CalyQuissiu@dape

d sfpprige Quybugrie surfissiu@b Qe agddraer Quut Quppeey.

Pick out the correct statement ( only one statement is correct ) :

a)  Resources necessary for industrial development in India is even

b) For industrial development production of raw materials are not importaht

¢) Lignite is mined at Neyveli of Tamil Nadu _

d) Railway engines made in F Bi'éamba:ii.lr of Tamil Nadu is quite popular.
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28. aflurer sapeops Caiey Qels : ( Spseaoeupdles sperm vl GG sflurer enbmi )
a w&saOzTEsa SurliuoLta @hdHur e meug Quiflu BrLTED
b) w&esaQsresl Ydalafllaughser 5 HSTHEEHES @ GWOD
5601 & &L LUDSlETD S
0 elLmeug Dbsrads Sisdler wedu Crréshd 2 amald saraflopey SyED
d @phdurale Caperraligre yamaameanal. CUTHE GaDay.
Pick out the correct statement ( only one statement is correct ) :
a) India is the second most populous country
b) The population Census is taken once in every five years
c) The Eighth Five-Year Plan’s main aim is self-sufficiency in food
d) InIndia, only in Kerala the women are lesser in number than men.

Camgl L @ hisemenr sflurer el Qarao® Hliylis :
Fill in the blanks with suitable answers :

29. ‘ST GTUIR’ .ioveeererriiieerieenienn prflesdle RSDS.
The ‘Palace Train’ plies In ........ccccieieveienennns state.
0. SEGDUIG onursonriossionmmmnissass gD @efllys e53 QBmelaTnE.

Sweet ingredient in sugarcane is known as ........c...cceiieinnnnens

ue$l - g / PART - B
( wluQuetarse : 10 x 2 =20) / (Marks : 10 x 2 = 20)

&pluy | Note : ) eperppl usdllliehs prare alarssed, Gy ewullud
uedlldmhe Grear® alarésesb, yaltlud ugHdleEhs
preére eflarssad CsthOsBss OCuorssd udg
s sEnse elowellésa.

Select any four questions from History, any two from Civics
and any four from Geography. Answer ten questions in all.

i) Speauph Sadg NaTTEHEHEGD HHESLTET ool HHe.
Answer each of the following questions briefly .

iif) eréver eleITHHEREGD WELGLTTTSHET S,
All questions carry equal marks.

urerp ( aoaCugib prarg allamésense LL@Eb alor sHs )
HISTORY ( Answer any four questions )

31. SHsTL@ alyt aein SyePsslLGUaT wTT ? geT Sjelaumy S P&HSHULLLTT 7
Who was known as the Hero of Arcot ? Why ?
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32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44."

45.

10
1857-b 4@ pbs Ly-Sliflesr 2 L ey smyewrd wrgl ?
What was the immediate cause for the revolt of 1857 ?

ateer Nyyeler aleusnw Frdeosnsen LTl 7
What were the agricultural reforms of Lord Curzon ?

@pdu aurflaflews sl b s@b 2 e eredtent 2
What right is given by the Hindu Succession Act ?

AW LWDTHE TSTPTE eTedTe ?
What is meant by privatization ?

sriLreneu ( SAPTA ) allfleurées.
Expand SAPTA.

Sgovilud (aaatugd ot elemésense WG oL 5GBS )
CIVICS ( Answer any two questions )
Sal" L& eredTpTey eredTest ?
What is meant by Federation ?
2 LUGsTH6 eTepTen eTedTeT ?
What is meant by mid-term poll ?
UTEHGHTETT SjeLwren L blenet aphGasl w7
Who issues the Voter Identity Card ?

yellllué (aoaGuaid prarg elaméaense woGb oL, 8®s )
GEOGRAPHY ( Answer any four questions )

guapu Gpdurele uryd piGeT WTeal ?

Name some of the Peninsular rivers of India.

Dpé sPpemsT g F Gl QRISETTS WTDISSIPEsT ?
How do the deltaic areas change into marshy or wetlands ?

Qidurale afenemyd 2 eorey’s it eel wreme 2

What are the food crops grown in India ?

@pduralen yHu Cadlu sdailés Q&mefrenaulle @gﬁlééﬁneﬁma% wrenel ?
What are the aims of the New Education Policy ?

S HTLIg.6bT HLOWSHET WTeme ?

What are the responsibilities of a nation ?

yereNaleuy Ceafliflener alené@e.
Discuss Data collection.



46.

47.

48.

49,

50.

51.

11 3832

ug$ - @ / PART - C
( wlIQuGssTEsT : 6 x5 =30) / (Marks : 6 x5 =30)

&oliy | Note: 1) eador alamssepssh aloL 56s.

Answer all questions.

i) eréver ell@TTéHEERSGD FwLTET WHLGLEGTSHET.
All questions carry equal marks.

i) @m@surr@ Gxﬂsmrraﬂgum syLUL HeiTer  LTHDI aﬂemnaﬁs!ﬂé:

gCseib pemeNsE LD aloL walésaab.
Only@ong}) of'rD %’e alternatives in each question should be

answered.

2 udCaur @hdurald asalsb sib aassanaamen Bipealeri ?
How did the British establish their trading centres in India ?
; 2eevg [/ OR
e Nyuele Srdlpssnsamen allaré@s.
Elucidate the reforms of Lord Ripon.
19-b mTHpreTI® Faps sow FTFBHs QusshsaTTed FHULL eﬂmma;smm

auflosliu@sss.
Enumerate the effects of the social and religious ‘movements in the

19th Century.

2evevg /| OR
@mﬂwrmﬂsm Qeusflypey Qareimamu aleTéGs .
Explain India’s foreign policy.

2L @il siflarrrset, uaieer uTaea 2

What are the powers and functions of the Governor ?
gevevg / OR

@bdu Gyésaiedr o flowameanyb, sLswaaeand allaré@s.

Explain the rights and duties of citizens in India.

wslu o let Sl upHl erwsis.
Write about the structure of the Union Government
<yéavg / OR

wrile Cairae ymemusdler ey, uhdlomer allarées.
Explain the composition and role of State Election Commission.

@idlureller CareLsrab, gellfaran guips.
Compare winter and summer in India.

i eevg | OR
srhsmenl LUTgierss CoasmmgusesT Sauslusos allaébss.
How could we protect the forests ?
@bdluralles Camgeno ETGUS @Gmrpuﬂemsmu.[m AL ou@Ed u@uBseeTyD,
uedaaerybd uhH eleufl.
Describe wheat cultivation of India.

<evevg /| OR

@bduraler wasaTQgTams uyael ubP alifleurs aflauf.
Write elrborately about the population distribution of India.

[ Turn over
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52.

53.

54,

55.

. ugd -% / PART-D
( FlLGuetoraer : 4 x5=20)/(Marks : 4x5=20)

@fliy | Note: 1) edeor alamssepseb aloL s@s.
Answer all questions.
) eder alaTéEsEpsGh s WSS,
All questions carry equal marks.

@by, euogusdlé ( outline map of India ) L&Qaperd) dgyefien

g fliugdemer aorba SPe SpsacaL GLusmas GhIssaD

a) Oar&dler b) Cameur ©C)  préy.
Sketch the English possessions in India during the time of Dalhousie and mark
the following places in outline map of India : .

a) Cochin b) Goa c¢) Nagpur.

SpsaaiL Hlapéflamer srasGarigsd owsdlds

a @pdu spessiLb b) @permb 2 ewsl Gumt

o @hdu Csélul L 4 @pdlur urdlevgrer Uiflaleer

€] @pnHur GRrUTES AWM.

Draw a time-line chart for the following events : ;

a) Government of India Act - b) Break-out of Second World War
c¢) Indian National Army d) Partition of India and Pakistan
e) India became Rebublic. ' '

@bdu cusmguL sl Epsarenid gCaIb Getep LLED oy :
Draw any one of the following in the outline map of India :
a suspu @hduralet flasCamdpbd
Physiography of Peninsular India
b) Qpduraie Cpaealmenyd uggesr
~ Paddy cultivation regions ,
o @pdu Srafiures @bou wsd Qesdmea ey Q@ édw
SID(P&HBISEHLEDT . tTn
Indian sea route from Mumbai to Chennai with two important harbours.
gt aeflovurar eflarg Csreuiloas surt Qelg SGHe o erer Hymosde
%éaaﬂe&r soal, Caumaarivy sriuter gtz Ceaflsed aamiuel gurt
g5, - : : i _
Prepare a simple schedule of questions for collecting information on education
and employment facilities data in your neighbourhood village.
eflly : uTt@awpp wrEEuTsd aaruLsdle GLiascas ePlulll@s
sTLQaushel udle Sdal_bsoat upPlu ePluyss LLED awWs
Ceucsr@ib. wHpD sTesCarinped SdaurCp GPuysst LLED T
Goustor(®ib. .
Note : Blind candidates may be asked to write only notes for the questions
related to map and time-line chart.




